Organizational Behavior
June 2021 Examination
1. Man is a social animal. During our association with other humans we learn a lot from them. It is pointed out that people learn from observation, imitation and modeling. Could you name this theory and write the principles on which it is based? (10 Marks) 
Answer 1.
Introduction: 
The legendary Greek philosopher Aristotle said, "Man is by nature a social animal; an individual who is unsocial naturally and not accidentally is either beneath our notice or more than human. Society is something that precedes the individual." Man can't live alone. He should fulfill certain normal essential requirements to endure. He needs to go into associations with his fellowmen for carrying on with daily existence. No man can break the shackles of common reliance. This starts perhaps between the embryo and the mother and continues till his last breath. The embryo's need Its Half solved only
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2. Xavier works as the Head of Marketing department. Rahul reports to Xavier. Explain the various factors which affect the interpersonal behavior between Xavier and Rahul within the organization. (10 Marks) 
Answer 2.
Introduction: 
Interpersonal relationship alludes to a solid relationship among people cooperating in a similar association. Representatives cooperating should share an uncommon bond for them to convey their level best. It is fundamental for people to be straightforward with one another for solid relational elements and in the long run sure vibe at the work environment. In an association – On one hand, there are adverse consequences of non-existing proficient companionship since it would cause a circumstance of single brain decisions, invite monotony & also lack of 
3. Fastmop, a professional cleanup company has roped in Zoomberg Solutions for the creation of their advertisement for mass communication on Television and Youtube. When Rita, the Executive Marketing head saw the advertisement she notices a lot of cultural and racial stereotype displayed. Rita then tries to bringing across this point to VP, Mr. Sonu Dalal. Mr. Sonu fails to acknowledge anything wrong being depicted here.
a. How will you convince Mr. Sonu about the stereotypical depiction in the advertisement? (5 Marks) 
Answer 3a.
Introduction: 
A Stereotype is a fixed, over summed up conviction about a specific gathering or class of individuals. By generalizing we construe that an individual has an entire scope of qualities and capacities that we expect all individuals from that gathering have. Advertising shapes our culture, but it also reflects our culture and we’re at a cultural moment where there is increasing recognition that the traditional ways of representing gender don’t make sense anymore.
b. Do you think advertisements of a company can help improve the situation of cultural and racial stereotype in India? (5 Marks) 
Answer 3b.
Introduction: 
Advertisements regularly stereotype groups and communities. Also, that is on the grounds that so does mainstream society. Advertisements just feed on well-known insights, they parasite on existing biases, for a fast associate with crowds. Recall that the work of business promotions isn't to authorize social change; they will probably sell products and make money.
